MAT 201, Exam #1, Spri

Instructions: Show all w
credit. Some questions
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3. Decompose the vector i = (3,6, —2) into U = projziand i, = U — ). (4 points)
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4. Find the volume of the parallelepiped determined by the vectors (1,2,3),(—1,1,2),(2,1,4). (3 points)
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5. Find the distance from the point (4,1, —2) to: (4 points each)
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sketch or describe the graph including the orientation. (3 poi

s each)

6. Determine the kind of surface for each graph (put the graph F standard form if needed), and
t
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7. Graph the space curve #(t) = 2 sint{ + tf+2costk. (8 points)
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10. Draw at least 5 level curves of the function f(x, y) = \/y? —
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9. Find the domain|of the function f(x,y) = /y + /15 — x? =32
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8. Find a vector function that represents the intersection of z 1,/3:2 +y2andz =1+ y (6 points)
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11. Matph each funt
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(3 points each).
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12. Describe the leve
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13. Find the limit. (5 points each)
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15. Match the equation of the vector field to its graph. (3 0i

Alt

{\\\\\

a. .- e R AR &
Wy 7/’””“’;::, 200
Z a2
/ 77 SN\
A BN \\\\\\\\\
. DI IAENN
1 Bt (oediirbopatemoees i |
\ g_ - 7
b. d. \ \\\ W<~
i Flx,y) = a2 + y2t — xyj a(
i Floy) 5 e+ i+ (x—y)f ¢
ii. F(x,y) = 4sinxi—2cosyj ‘0

16. Find a parameterization for the surfaces of the sphere x2 + %+ z? = 4 above the cone z=
x? 4+ y2. Include any boundary conditions. (4 points) ULy
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17. Describe the surface described by the parametric surface given by 7(w, v) = ucosvi+

usinvj + u?k. (4 points)
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Some useful formulas:




